Calc 2 HW 1 due Thus.11.Nov.04  - Solutions courtesy of publisher (EJZ)  Underlined problems are available on eGrade.
Ch.2.1 # 2, 4, 6, 10, 17, 18 

Ch.2.2 # 2, 16, 18, 20, 22 (sketch first!), 30, 36
Ch.2.3 # 6, 8, 10, 12, 14, 23, 27, 33

Ch.2.1 # 2, 4, 6, 10, 17, 18 

[image: image1.png]2. (@) Lets=fifl
(i) Wewish o find the average velocity between = 1 and £ = L. We have

=g 3m=3

Average velocity = = aamisce,

i) Wehave

Average velocity = 60 misce,

() We have

Average velocity = = s,





[image: image2.png]4. The slope is positive at .4 and % negative at " and F". The slope is most positive at ; most negative at F
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[image: image5.png]17. Between 1504 and 1927, the world's population increased 1 billion people in 123 years, for an average rate of change of
/125 billon pecple per year. We convert this o people per mine:
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Betwoen 1589 and 1927, the population ofthe world incressed st an average rate of 15,7 peaple pr minute, Similaly,

e find the folowing:

Betwoen 1927 and 1990, the increase vas 575 posple per mine,

Between 1003 and IS4, the increase was 5,00 people per mintc.

Between 1971 and 1967, the increase was 115,35 people per mintc.

Between 1967 and 1908, the increase was 13,55 people per minute.

peoplelyear- yearsiminute = 1547 peopleiminute,





[image: image6.png]18. Since fif] is concave down between{ = 1 and £ = 3, the average velocity between the two times should be less than the
instaniancous vlocity st £ = 1 but grater than the intantancous velaciy o time £ = 3, 0 £) <.1 < €. For analogous
reasons, < 7 < . Finaly,note that f is decreasing at £ = 50 < 1, but inereasing at £ = 0, 50 [ = . Therefore,
the ordering from smalletto greatest of the given quantties is

FeB<E<0<D<A<C




Ch.2.2 # 2, 16, 18, 20, 22 (sketch first!), 30, 36
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[image: image11.png]30, Divide mumerator and denominator by 2:
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Ch.2.3 # 6, 8, 10, 12, 14, 23, 27, 33

[image: image13.png]6. We estimate f'(2) using the average rate of change formula on a small interval around 2. We use the interval &
= 2,001 (Any small interval around 2 gives a reasonable answer.) We have





[image: image14.png]8. One possible choice of points is shown below





[image: image15.png]10. Using the definition of the derivative. we have
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[image: image16.png]12. Using the definition of the derivative
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(b) The tangent line at point C appears to be parallel to the line from A to I Assuming this to be the case. the lines have
the same slope.

Slope

(©) Thereis only one other point, labeled [ in Figure 2.

B

at which the tangent line is parallelto the line joining A and





[image: image21.png]33. We want to approximate /(U and F(2). Since for small fy
Py 20 = I

iFwe take J = 001 we get
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